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Multiple Choice Monday #5
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1. Aside of a cube is measured to be 10 cm. Estimate the change in surface area of the cube when the
side shrinks to 9.8 cm. \ 2.
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*6. If the position of a particle is given by x(t) = 2t3 — 5t + 4t + 6, where t > 0. What is the

distance traveled by the particle fromt = 0tot = 3? Zu
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*7. The average value of the function f(x) = In® x on the interval [2,4] is
(A)—1.204 @) 1.204 (C)2.159 (D)2.408 (E)8.636 74

L rwax - S(\ms ox

ax*+5x, x<2
bx*—-3x, x>2
(A)O.5 (B)O (C)2 @h6 (E)Thereisno value ofb Yax®+5 %<2
4 2 0= gz\ox—s x 72
al2) 32y = (D) -3(2) Y, 2) s, 200 -3
Wea +19 = 4 -t 226+ = Yo -3

*8. If f(x) is continuous and differentiable and f(x) = { thenb =
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*9. The second derivative of a function f is given by f"'(x) = x sinx — 2. How many points of
inflection does f have on the interval (—10,10)?
(A) zero (B) two mfour (D) six (E) eight
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